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EXpliCit formulas can generate any term in the sequence.
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Recursive formulas show how to produce the
next term from a known term.

What is the sequence
doing over and over again?

Recursive formulas

are used in computer
programming
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90, 30, 10,

(Question #1) Write a sequence formula for each:
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N
A
Zero or first term format - o
20, 23, 26, 29........
15, 40, 35, 30........
6,12,24,48,........
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(Question #2)

In a new sequence, what does the following mean? 'I,', (3 Z) = I%w

(Question #3)

Determine whether 530 is a term of the sequence #(n) =8 + 6n

(Question #4 )

Given the recursive sequence below, list the first 5 terms of the sequence
t,=3
tll+1 = 5 tn - 1
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(Question #5)
#1 1)

sequence as arithmetic, geometric or neither.

1. 2948 6n

Write the first few terms of each sequence. Then identify each

1 #2  tn) #3  1n)
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( Question #6 )

clues:

t(5) =

find the arithmetic sequence

Mystery sequence

32 and

t(11) = 56
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Consider taping these notes into yours.
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Pull out your Reference Sheet
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Exponential Functions y = ab* , where b is the multiplier, a is the starting value
for % situations: ~ $200 increasing by 15% - y =200(1 +.15)" = 200(1.15)"

$700 DECREASING by 15% — y = 700(1 —.15)¢ = 200(0.85)"

X
=ab
ﬂ tmu\ﬁp\{e«

are only defined when:

H>0  b#F|

% . . X
/" Exponential functions in this form
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Sketch Y= 833 +5

& Sketdh Y= 3 <5%>& — 4
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Find the y-intercept analytically.

é{z:ss(a))<

Graph and find the y-intercept.
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Assignment Appendix

A....24, 56, 78, 83, 99, 100




